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Trovail valoredi n.

1)

3)

5)

7)

9)

11)

13)

15)

17)

19)

M atematica

O0x(nx5)=(0x8)x5

(10x1)x2=10x(1xn)

10x(3%x4)=(10%xn) x4

1x(3xn)=(1x3)x4

(7xn)x9=7x%x(5%9)

2x(7x9)=(2x7)xn

(nx0)x10=8x%x(0x10)

(Nx3)x7=9%x(3x7)

9x(4xn)=(9%x4)x10

9x(5x8)=(9%x5)xn

Valore associativo (Cifra mancante) Nome:
Risposte

2) (Nx0)x7=3%x(0x%x7)

1.

2,
4) nx(4x10)=(9%x4)x10

3.

4.
6) Nx(6%x10)=(5%x6)x10

5.

6.
8) (6x9)x4=6x%x(nx4)

7.

8.
10) (nx1)x7=5x(1x%x7)

9.

10.
12) (2x6)x9=nx(6x%9)

11.

12.
14) (8xn)x3=8x(10x3)

13.

14.
16) (3x4)x0=3%x(nx0)

15.

16.
18) 3x(8x9)=(3%x8)xn

17.

18.
20) 3x(8xn)=(3x8)x4

19.

20.
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Valore associativo (Cifra mancante) Nome:  Soluzioni
Trovail valoredi n. Risposte
1) Ox(nx5)=(0x8)x5 2) (nx0)x7=3x(0x%x7)
1 8
2 3
3) (10x1)x2=10x(1x%xn) 4) nx(4x10)=(9%x4)x10
3 2
a. 9
5) 10x(3x4)=(10%xn) x4 6) Nx(6%x10)=(5%x6)x10
5. 3
6 S
7) 1x(3xn)=(1x3)x4 8) (6x9)x4=6x(nx4)
7 4
8. 9
9) (7xn)x9=7x(5x%x9) 10) (nx1)x7=5x(1x7)
3 S
)
11) 2x(7%x9)=(2%x7)xn 12) (2x6)x9=nx(6x%9) o
11. 9
2
13) (nx0)x10=8x(0x10) 14) (8xn)x3=8x(10x3) .
13 8
14. 10
15) (nx3)x7=9x%x(3%x7) 16) (3x4)x0=3%x(nx0)
15. 9
4
17) 9x(4xn)=(9%x4)x10 18) 3x(8x9)=(3%x8)xn 16'
17. 10
9
19) 9x(5%x8)=(9%x5)xn 20) 3x(8xn)=(3x8)x4 e
19. 8
20. 4
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